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® 100cm? @1a ® 1ha
@ 10m? ® 1km?
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100
HE D 100
HE 10000
HED 1000
HE D 1000
HED 1000000

lha = 100m x 100m = 10000 m? = 100 a
1km?2 = 1000 m x 1000 m
= 1000000 m? = 10000 a = 100 ha
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2900
HE T 290000
HE T 29000000
HED 340000
HE D 3400
HED 34

1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?




@ cm? © m2

® ha @ km?

249] ol : o 360
B

>
> He: 6

A0 72t A2E cm 2 UER = 9lomg Ho]
em? YUY TH

_g]

)

rr




o

v vV Vv vvyvVYyYVvyy
0
L

100
HE D 100
HE D100
HEHT 10000

1km?2 = 100 ha = 10000 a = 1000000 m?2
Slofl= 2T 2 100, 100, 100°] 17,
o}l 10000 YU tt.




gof =2 715 A2 8000 kg 7HA] A&

L 9
|m e

e t

S

1000kg = 1t ©]22 8000 kg = 8t YT}
wEhA o] EE2 g8t EZ YUYt




7. Ol >, = <= A HEOAQ,
1.2t O 1200 kg
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1.2t = 1200 kg
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Makw? = |Jha=[ o= jm?

(2)5000000m? = Ja=[ |ha=[ |km?
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400
HE T 40000
HE T 4000000
HEFD 50000
HE D 500
HE 5

1km? = 100 ha = 10000 a = 1000000 m?
(1) 4km? = 400 ha = 40000 a = 4000000 m>
(2) 5000000 m? = 50000 a = 500 ha = 5 km?




O 24a=240m? @ 1300a = 1.3ha
@Ska = 80000 a @ 1.6km? =1600a

® 47m? =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©]|2&
@ 24 a = 2400 m?

© 1300a = 13ha

@ 1.6km? = 16000 a

® 47m? = 047a




11. g Fol A Wolrt 7bg 2 28 olu AUk

(0)0.3km? @ 0.3ha ® 300a

@ 3000 m? ® 3ha
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@ 0.3km? = 30ha
® 300a = 3ha
@ 3000m? = 30a = 0.3ha
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800 x 600 + 2 = 240000( m?)
= 240000 m? = 2400a = 24 ha
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105 x 68 = 7140(m?) = 71.4(a)
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8.4t = 8400 kg
A2} T O] BA 1 8400 + 350 = 24 kg
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3.6t = 3600 kg
3600 + 15 = 240(AA})
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36 x 500 = 18000(kg) = 18(t)
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® 12ha @) 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?
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GAE m? 2 FASNA gy

@ 12ha = 1200a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200a = 120000 m?

® 1200000000 cm? = 120000 m?

2N, O =0 =@ =0 < @YYtk




18.

o A& 1.7t 7kA & 4= = A A dolg 7} FUTt. o]
daHolE o] FFA7} T0kg Q1 o] 11 B, 55kg ¢l ©]2 8 o
Bt lFUTH BFA7F 40kg 91 o=lo]= gt 2 P7iA] & &
A=A oA L.

v
n

]

Vv
0
L
—
[N}
|og.

1.7t = 1700kg
(5 & 4= e F7)= 1700 - (70 x 11 + 55 x 8)
= 1700 — 1210 = 490( kg)

490 + 40 = 12---10
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